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Fe* (d%) in water-

Identify the incorrect match.

Name TUPAC Official N
(8) Unmlunium ()  Mendeleviw
®»  Unniltrium (1)  Lawrenciux
B it i Seahorg
@ Unununnium (w) Darmstadt
D (@aWm
@ (),
@ (0 (w
@ (.G
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Identify

the correct statement from the

following :

() Wrought iron is impure iron with
4% carbon.

(2  Blister copper has blistered appearance due
to evolution of COy.

(3) Vapour phase refining carried out for
Nicke!l by Van Arkel method.

(4 Pig iron can be moulded into a variety of
shapes.

Which of the following is the correct order of
increasing field strength of ligands to form
coordination compounds ?

(1) SCN™ <F <Cy07 <CN~
@ SCN™ <F <CN™ <CgO0f
@ F <SCN™ <C05 <CN
(#) OCON <C0f<SCN™ <F~
Uren reacts with water to form A which will

decompose
Cu?* (aq), deep

’

to form B. B when passed through
blue colour solution C is formed.
is the formula of C from the following ?

o
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14

16.

Temporary (i)  Anelectron
WU‘ mm
water

© BgHg () Synthesis gas

@ HO04 (v) Non-planar

ftructure

@ b (©

M @ W (i) v .

@ G w ()

3 G Gv) (-« W)

(4) 1] tim} () (w)

For the reaction. 2C1(g) -+ Clylg). the correct
oplion 18
M AH>0mmdadS5>0

@ AH>0andAS<0
M AH<OandAS>0
@) AH<OandAd S<0

Amixture of N, and Ar gases in a cylinder containe
TgofNyand 8 g of Ar. If the total pressure of the
mixture of the gases in the cylinder w 27 bar,

partial pressure of N, is ‘
[Use atomic masses (in g mol = 1) : Nw 14, Az
() Obar
@ 12bar
@  ASbar
A Wbar
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24.  Which of the fallowing is a basic amino acid ?

Ty
@

@
@

Reaction between benzaldehvde and nce
in presence of dilute NaOH 1 known as ©

+CyHOH

Aldol condensation

Cannizzaro's reaction

Cross Canmizzaro's reaction
Cross Aldol condensation

Serine
Alanine
Tyrosine
Lysine



..'j..-‘_ hest ol reaction
. o h“.l"'
‘collasion frequency

ber of protons. neutruns and electrons in
L respectively, are :

71, 104 and 71

104, Tl and 71

E 71, Tland 104

W 175, 104and 71

28 What is the change in oxidation number of carbon
in the following reaction ”
CH (@ +4C)y(g) — CCLD + 4HCUe)
(1) +4w+4
2 Oto+4
@ ~dto+d
@ Oto-4

Match the following

L1N

5

N(CHy)y ‘

NHCH,

“

The correct option for free expansion of an ideal
gas under sdiabatic condition s

(1) q=0AT=0andw=0
@ q=0AT<0andw>0
® q<0AT=0and w=0
W q>0,AT>0andw>0



CHyCH,CH,

“

. Whach of the following set of molecules will have

zero dipole moment ?
(1) Ammonia, berylium difluoride, water,
L4-dichlorobenzene

@  Boron trifluaride, hydrogen fluoride, carbon
dioxide, |, 3-dichlorobenzene

3) thwmmmm
mm" beryllium difluorid

“ carbon dioxide, 1 4 dichlorobensene

)

Which one of the followings has maximum r
of atoms 7

i
2
@
4

1 g of Ag(s) (Atomic mass of Ag = 108]
1 g of Mg(s) |Atomic muss of Mg =24)
1 g of Oy(g) [Atomic mass of O =16]

I g of Li(s) [Atomic mass of Li=T)

ldentify the correct statements from
following ©  http://www.xamstudy.com

(a)  COyg)1s used as refrigerant for ice-cra
and frozen food.
(h)  The structure of Cg, contains twe
carbon rings and twenty five ﬂ.ﬂlon
()  ZSM-5, u type of zeolite, is used to0 o
alcohols into gasoline.
d) COiscolorless and odourless gas.
(1) (&), (b)and (c) anly
(2) (a)and (c) only
(3) (b)and (c) only
4)  (c)and (d)only
Measuring Zeta potential is useful in determ
which property of colloidal solution ?
A1) Viscosmity
2  Solubility
(3)  Suability of the colloidal particles
(4)  Size of the collodal particles



@  Cetyltnmethyl smmomum bromide Cunntitnipis

m
@  Sodium sulphonate O
Laver of the owvus
43 Resction between acetone and methylm sgnesium @ Buillewwthenl G0
chloride followed by hydrolysis wall give dands
) lsopropyl alcohol ¥ @ leydigoells Gv) Lashwacation ol the
@  Sec butyialcohol ® .. Potan
) (B
&  Tert butyl akcobal Q) v W ®» W
) Isobuty] alcahaol e W (W) (u) famh
L faad () (I e
44. Pind out the salubility of Ny(OH), 0 0 ) M NaOH
Given that the ionic product of NyOH), e @ = G W= e
- 18
- padioly 48 o whoch of the ollowing technugpues. the embryos
m 2x1w0-"M are trutslorred Lo sesisl Those fomales who canmet
- conceyve
@ :x.‘—u“ n ZIFT and IUT
@ 1x307EM @  GIPFT and ZIPT
@  I1x1*°M @ IOS] and Z2PT

W GIFT and 1CS)

45. Which of the following oxoacd of sulphur has
o hss exporiments S L

~0-0~ linkage ! - .
. scuds by muning the following
S TR eemenc M CH, W, NH,and w

B B siohuriosdd @ OM, H, NH, and
Q Wﬂ @ CH, M, NH, andw
W HS,0; pyrosulphursc acd | W OH, M, NH, and
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Name the plant growth regulator which
SPraying oh SUGArcane crop, increases the
of stem, thus incrensng the yield of »
crop.

(n
(V4
8]
w

L] ) ()

Cytokunn
Gibberellin
Ethylene
Abscasic acsd




Half infenor ovary

63. Which of the following 15 correct about viroids !

(1) They have RNA with protemn coat

{2) They have free RNA without protein coat.
(3) 'They have DNA with protein coat.

(40 Theyhave free DNA without protein coat
Whuch of the following statements about inclusion
bodies is incorrect ?

They are not bound by any membrane.

These are invelved in ingestion of food
particles.

They lie free in the cytoplasm.

These represent reserve material in

cytoplasm.

28 g8¢s

n
@
(&)
)

{n)
)

()
@

(a) (b) (o @)

) Gv) (- Q-
Gv) @ (n) ()
W M vy (m)
w © (i) (v)

@mm section of a plant shows following
anatomical festures |

Large number of scattered vascular bundles
surrounded by bundle sheath

Large conspicuous parenchymatous ground
tissue.

Vascular bundles conjoint and closed.
Phloem parenchyma absent. o |

Identify the category of plant and its part -
(1)
@ Monocotyledonous root
@ Dicotyledonousroot

Monocoty ledonous stem i
e l i
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Match the following columne and uhd._

correct option.
Column -1
(a) Floating Ribs

(t)  Acromion

©) Scapuls
d) Glenod cavity

() (b)) (e
I M vy O
@ O @ @
3 (u @ v
o) (V). (W) @ .

The product{s) of reaction catalyzed by m
in root nodules of leguminous plants isare
(1)  Ammona alone

(2)  Nitrate alone

(83} MMW .

)

{n)

(1)

)

(d)
()
)
(1

(u)

Column - 11
wecond and
seventh ribe
Head of the
Humerus
Clavicle

Do not connect
with the

(1) Ammonis and hydrogen

LS " Al



(e

5 ::mmmumnua.,&“

@) Filwows roote
. (2 Primary roots

(1  Proproots

() Lateral roote

00 1% men insulin is synihesised as o

o hpﬂnﬂnbnmwm gnmetes .
© Seed inmde the frut
'  The functional insulin has A and B chains
linked together by hydrogen bonds. @ Embryo sac inside the ovule
(4)  Genetically engineered insulin 1s produced 1y (wonly
in E-Coli. :
@ (), (b)and ()
@ Identify the wrong statement with reference to @ (andid
st of axygec. @ Wand(d

| (1) Binding of oxygen with haemoglobin ie
mainly related to partial pressure of Oy 86.  Which of the foll \ tovels will

@  Partial pressure of CO, can interfere with uhmdwuulwuhunalﬁumm
Qghhdhlwﬂhlumﬂhﬂn. follicle ¥
@ Higher H* conc. in alveoli favours the (1)  High concentration of Estrogen
formation of axyhaemoglobin. X @ High concentration of Progesterone .
) ‘I‘ﬂpm,in-l@oliﬁwm&cm B S Nion ot 58
4 Low concentration of FSH »

82  Which of the fallowing regions of the globe exhibits

Bighettumcm Srsmnty ¥ 86 ldentify the basic amino scid from the following.
(1)  Western Ghats of India () Tyromne % v.ll
@  Madagascar X @  Glutamic Acd X .
(9  Himalayss o @  Lysine x

() Amazon forests @  Valine

4
5




p ct the correct events that occur during
! Contraction of disphragm
Contraction of external inter-costal muscles
Pulmonary volume decreases

Intra pulmonary pressure increases

() and (b)

(e)and (d)

(a). (b) and (d)

only (d)

92 Which one of the following is the most abundant
e

-

Teszss s

gk

Which of the following refer to correct examplef
of organisms which have evolved due to char

in environment brought about by anthropog
action ?

(@ Darwin's Finches of Galapagos islands. |
)  Herbicde resistant weeds.
Drug resistant eukaryotes

{d  Man-created breeds of domesticnted a
like dogs.”
(1)  only(a)

(2 (a)andic)
3 () (c)and (d)
(40 only(d)

In gel electrophoresas. separated DNA fragments
can be visualized with the help of

(1) Acetocarmine in bright blue hght
2 Ethadium bromide in UV radiation
3  Acetocarmine in UV radiation

@ Ethidium bromide i infrared radiation




@)  Genetherapy
@) Cellular defence
(c) (1) Detection of HIV
infection
d PCR v}  Bocillus
thuringiensis
@ b © «
i M v ©® @ @
v m ) @ (v)
! @ G) @ Gv) W
.. @ O ) (m) av)

99. Match the organism with ite use in biotechnology .
Bacillus (0  Cloning vector
el
Thermus () Construction of
aquaticus first rDNA

malecule
() Agrobacterium () DNA polymerase
tumefaciens
(d  Salmonella (iv) Cryproteins
typhimurium
Select the correct option from the following -
(@) (b) (¢
n @ v G 0
’ ) W -
W v
@ 0 @

&)

L)

bsorption of Na* and water from renal
mua;tﬂudm to aldosterone
Atrial natriuretic factor causes
vasoconstrction
Decrease in secretion of renin by JG cells

102 By which method was a new breed ‘Hisardale' of
sheep formed by using Bikanern ewes and Marino
rams 7 http://Awww xamstudy.com

1))
2
3
4

104.

Out crossing
Mutational breeding
Cross breeding
Inbreeding

ldentify the substinoces having glycomdic bond and

peptide bond, respectively in their structure :

(D
(2)
D
4

104 Which of the following is not an attribute o

population ?

(1) Sexratio

(2)  Natahty

3 Mortality

(0 Speciesnteraction

Chitin. cholesterol
Glycerol, trypsin
Cellulose, lecithin
Inulin, isulin




m some antibodies from

mll i an example for passive

".m;hmmmm-elm the
b ake :
Column - |

ﬂmﬂ
omw

Column - 11
Cyclosponin- A

Butyrnc Aad
Citre Acxd

Riood chobesteril
lowering agent

(1
(-4
3
4

Central nervous sysiem is durwal

hallire

Chordsta s divided nte 4 aube
Hemichurdata Tunicats

Cephabs terdata
“J'M ich
i) mnd (w)

(n) and (bh)

{b) snd )

Eaperunental verithication of the chromossmal
theory of nbentanioe was domw by

(I Mendsl

@  Suton

H  Bowen

4 Norgan

The first phase of translaton w

N Bunding of mENA W nbesome
N Rocognition uf DNA maleoule
B Amuncecy ntion of UINA

&0 Reoougmtan of an ants cadon

s
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@ Powson stng v  Osteichthyes
@ (b)) (©

M @ o w. 0.

@ W v ® W

@ v G w o

@ & v @ w

@ Goblet cells of alimentary canal are modified

-
-

from
(1) Squamous epithelial colls
@ Columnar epithelial cells
@  Chondrocytes ,

Compound epithebal cells

r
Mwmm two consecutive base pairs
18 0.34 nm and the total number of base pairs of »

DNA double helix in » typical mammalian cell 1s
6.6 x 10" bp, then the length of the DNA is

approximately -
() 20meters
@  25meters
@ 22meters ,
W 27 moters

&

&

n
2

“

the following columns and select the

% A3
@ Prens
@ Morchontia <
122 Match
correct option.
Column - |
(x) Prutarygland @
) Thyrad gland (1)
()  Adrenal gland ()
(d Pancreas (av)
) (b)) (©
) ov) ) (i)
@ W W O Gv
@ m . v .
@ ) O v G

Column - I1
Grave's disease
Dhabetes mellitus
Dhabetes insapadus
Addison's disease

123, Presence of which of the following conditions in
urine are indicative of Diabetos Mellstus 7

Uremia and Ketonuria

Uremia and Renal Caleuli

(8] Rl"ﬂlm.lludﬂlym

Renal calculs and Hyperglycaemia
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> than net primary productivity- @  wind and water
D Gross primary productivity is slways more (@) insects and wateg
 than net primary productivity.
)  Grossprimary productivity and Net primary | 132 Select the option including all sexually t
, Productivity are ono and same. dinsnste.
() There is no relationship between Groms (1) Gonorrhoos, Syphilis, Genital herpes
+ primary productivity and Net primary o Gonorrhoss, Malaria, Genital herpes
@  AIDS Malaria, Filana -
127. Which of the following statements w correct ? @ Cancer. AIDS, Syphilis *
Adenine pairs with thymine through two |
H-bonds. \.@ The oxygenation activity of RuBisCo enzyme m
() Adenine pairs with thymine through one photorespiration leads o the formation of
H-bond. (1) 2 molecules of 3.C compound
id m"“"“‘h“""“m”“’m 2 1 molecule of 3-C compound

A3 1 molecule of 6-C compound

(© 1 molecule of 4-C compound and 1 molecul
of 2-C compound

(4)  Adenine does not pair with thymine

128 Identify the correct statement with regard to

G, phase (Gap 1) of interphase.
a DNA synthesis ar replication ta) Secondary metabolites such as mcotine. strychn
2 5 A T and caffeine are produced by plants for their -

P place. pnstnl (1)  Nutntive value
- Cellis metabolically active, grows but does (2) Growth response
ot replicats its DNA. @  Defence action
Lakes place. @  Effect on reproduction
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A resistance wire connected in the left gap of a
metre bridge balances s 10 {) resistance in the
right gap at & paint which divides the bridge wire
in the ratio 3 : 2. If the length of the resistance
wire i# 1.6 m. then the length of 1 {1 of the

resistance wire is -
10x10 *m
1.0x10"'m
15107 'm
1.6x10°*m

8 8¢s

189. The energy required to break one bond i DNA s

10-2J, This value in eV is nearly .
6

88 ¢

143

144

at a pont at a distance of 0.6 m from the
“h‘d‘m.dmde,-immlmlhllhu
l‘hgwmthdudipd"ﬂ""?

[__!__ 2 n.mc*]
dmeg

() 1]
(4]
3)
4

An iron rod of susceptibility 599 is subjected toa
magnetising field of 1200 A m~!. The
permeability of the material of the rod 1s:
(pg=4wx10-"TmA~")

() 24xx10°'TmA-!

2 B0x107°TmA~!

@ 24=x10°*TmA-!

“ 24=x10 TTnﬁ'l

sovV
200V
00V
210

Two cylinders A and B of equal capacity are
connected to each other via a stop cock. A contains
an vieal gas at standard temperature and pressure.
B s completely evacuated. The entire system is
ww_mﬂwﬁhm
opened. The processis

() isothermal
2 adiabatic
®  wochore
1) wobarnc
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(L))

151. The solida which have the negative temperatilne
coefficient of resistance are : '

(1) metals

(2) insulators only

@  semiconductors only

(4 wsulstors and semiconductors

152 When s uranium isotope ’f;;l.f 18 bombarded wit
& neutron, It generates gzl{r. three neutrog

and
M '3iBa
@ oor
@ 'SKr
@ 'SKr




e w-f'r-rt)
@) 628x10-4T
itg'f 314x10°4T
@ 628x10°°T
@ 814x10°°T

“ mthﬂuhldwmhnnhﬂw:mummg
from a star. The limit of resolution of telescope

'. ‘whose objective has a dismeter of 2 m is -
) 366x107 7 rad
. @ 183x10 "rad
4 @ 7.92x10 "rad
:"' @ 600x10" 7 rad

|

i

! m An electron is sccelerated from rest through a
' difference of V volt. If the de Broglie
mamehﬂmu 1.227 % 107 % nm, the
potential difference 15 http://www xamstudy.com

m 1wV

@ v
Y T
(S 10tV -
| t'.i-
naions of stress are | ¢”
[MLT-¥) o
[MLAT- %) B
| MLT?) U
[ML-17-2) 0

1 161,

110
w 1:¢

For which ane of the following. Bobr model is not
valid ?

(1) Hydrogen atom
@ Singly ionised helium atom (He *)

@ Deuteron atom
) Singly wnised nean stom (Ne * )

A cylinder containe hydrogen gus at pressure of
249 kPa and temperature 27°C
Its density i (R=83Jmol " "K~ 1)
(05 kg/m”

¥ 0.2 kg/m"

(® 01 kg/mt

W 002 kg/m*

For transistor action. which of the following
statements 5 correot ”

(1) Base emitter and collector regians should
have same doping concentretions.

(@ Base cmitter and collector regions should
have same size

(3 Both emitter junction s well s the collecton

Junction are forw ard binsed.
The base reguom must be very

doped

W




172

mm*mﬁ Ve

and voltage. mwﬂm"‘""
(l} T

@ 05

@ 10

(ﬂ -l-o

Two bodies of mass 4 kg and 6 kg are tied to th
ends of s massless string. The SLFINg passes ovy
a pulley which 1 frictionless (see figure).
acceleration of the system in terms of accele

due to gravity (g) is:
y

4 kg

6 kg
m g
2) g2
@ gb
® glo

The quantities of heat required to raise
temperature of two solid copper spheres of i

ry and r, (r,=1.5 r,) through 1 K are in ¢
ratio -

() %
¢
@ ;-:
3 E
“ 3




:-lh-:‘llﬂ respectively
i -

f The centre of mase of the system from the 5 kg
i “h“&ﬂl“d’?
0 ve
' @ H0em
m 6Tcm
W Bcm

176. In Younyg s double slit experiment. o the sepuration
between coherent sources is halved and the

distance of the screen from the coberent sourors
doubled, then the fringe width becomes

() double
@ haltf
(M four umes
) onedourth

177. A charged particle having drift velocity of
TH5X10"" m o) in an electnic field of

3x10" " V', has a mobility in m* V-1 4!

225 % 10'4
26x 10
2ax10*
226x 1014

&®eca

i

g

Al - L)

In & guitar, two strings A wod B made of same
material arv shighthy out of tune and produce beets
of frequency & Hi When teason in H o slightly
decreased the beat freguency increnses o 7 Ha
If the frequency of A w» 530 Hz the snginal
frequency of B will be

3 1]
#- 4
h 1
4

523 Hs
534 Ha
S0 Ha
537 Ha



